EEZX—T7FE 48 1

T4—=ILEEA4T HIMLZ IR 2R EBAE HTML Y — R 52k 451
NO | & #f
1 [ A—LT7 KL A FE R R FR %’l_én;lﬁ 7{}?1%0@@])17% co. jp |CHERLEXED D A =T KL% : Senai 18¢/10></tr></table>
[EH= GRS <input type="text” name="f000009999” value="$email$” maxlength="129">
FEXART4—LF
(@R $gj_ém—aﬁii§ A (iR ) Cinput type="text” name="F000009999:cf” value="$email:cf$” maxlength="129">
TXAMT 4NV
2[R T ¥R NRIR $:;F$7g;dz2$ 7%?@% <table><tr><td>ERI @ $gender$</td></tr></table>
m: 55 (male) §F—T— Fims Cselect name="7000009999">
£: % (female) B > §F T F:f§ selected <option $gender:m$ value="FE">H:</option>
- . <option $gender:f$ value="ZctE"> &M</ option>
TN i : $gender:m§ {/select>
$F—TU— Firm§ . P ” ” ” ”
P T o <input $gender:rm$ type="radio” name="£000009999" value="F#E"> F#k
${§J ] gendt}:i& checked Cinput $gender:rf$ type="radio” name="T000009999" value="7ctk"> %tk
SodRzy| 08 :
3| W 5% 2 R FR %’Fg; tide$ 7%?@15070041 Ctable><tr><td>BEFE 1 §2ip_code$</td></tr></table>
[EH= GRS <input type="text” name="f000009999” value="$zip_code$” maxlength="8">
THRALT 4=
STy RS (36 ~text” name=" “ value="$2ip code’as” -y
{1 §H—T— Fit§ JR 3HT <input type="text” name="£000009999" value="$§zip_code:a$” maxlength="3">
Bl - $2ip.code:as NIk 5 (R 44T) ~Cinput type="text” name="f000009999" value="$zip_code:t$” maxlength="4">
FRALT AR s rib-code
4 | PR $§Jf$7p;f§$ J%ﬁ%ﬁ%ﬁ Ctable><tr> LAY : $pref$</td></tr></table>
<select name="000009999">
TERE = <option value="HLiffili” $pref:1$>4LifFiti</option>
<option value="TF#W" $pref: 28> K< /option>
$F—U— FARERFRa— RS [ g <option value="#FUL” §pref:3$># FUi</option>
B : $pref: 13§ g .
<option value="iffft" $pref:47$> Ik </option>
Ay {/select>
5 HEREES FE R R FR %’F;;}ng 7%?,1%37572873591 Ctable><tr><td>HEFEH 4 1 $phone§</td></tr></table>
Ak GRS <input type="text” name="f000009999” value="$phone$” maxlength="18">
THEART 4= F
dishRE (B 2 03) <input type="text” name="f000009999:a” value="$phone:a$” maxlength="6">
X - TN EE (i : 5728) ~<input type="text” name="£000009999:e” value="$phone:e$” maxlength="5">
i (f51 : 3591) ~Cinput type="text” name="£000009999:n” value="$phone:n$” maxlength="5">
TXARTZ 4NV
6 |t F ¥R MR $§F;ﬂ;$§ 7{}?@19 500 <table><tr><td>4:% : $money$ M</td></tr></table>
[a] Al | input type="text” name="£000009999” value="$money$”>
TXAMT 4NV
EVAN F A T 3%?%;;\3 7{;’;&5 Ctabled<tr><td> M © §ob$</td></tr></table>
: D RARE
[Fo—For = <select name="T000009999">
<option $job:1$ value="1">2xtkE</option>
§3 — 17— FVALUEfES <option $job:2$ value="2">/A¥5H</option>
il : $job:3$ selected
<option $job:10$ value="10">MERE</option>
{/select>
TNET
- —0 Cinput §$jobirl$ type="radio” name="£000009999" value="1">23tkE <br>
%ot §9— 17— [ r+VALUE(ES <input $job:r2§ type="radio” name="£000009999" value="2">/AF5H br>
F—m—fg Bl - § job:r3s checked
Cinput $job:r10$ type="radio” name="f000009999" value="10">4El<br>
FUFRE
VALUEZ 7% $F—U— F:id$ VALUE{t <input type="hidden” name="f000009999" value="§job:id$">

5 : 5




EEZX—T-FOG4U)—H 2

T4—ILEEAT HIMLZ IR 2R EBZE HTML v — R 52451
NO |&Ff
- . $F¥F—U—R§ T~
8 |wiLFELY F¥ A hFER o >tro<td> : y ></tr> >
Frvs b 7 A bR 1+ Shobby$ Bl 8547, gy |Ctable>r> LBk : Shobby$</td></tr></table
Z L (K1Y 13<br>)
T XA RER §%¥—1U— K:br§ Bl : RZA 7<br> {table><tr><td>Bik</td><td>$hobby:br§</td></tr></table>
B <br>
= —o—F0 <input $hobby:1$ type="checkbox” name="£000009999" value="1"> K A 7'<br>
% —0—Fo2 §%— 17— R:VALUESES <input $hobby:2§ type="checkbox” name="£000009999" value="2">¥\ \#)<br>
CF——F0z 14 : $hobby:3$ checked .
Cinput $hobby:10$ type="checkbox” name="f000009999" value="10">}i47<br>
Fry IRy I A
VALUEF R $F¥—U— R:id$§ V%hquﬁg 7 <input type="hidden” name="f000009999" value="$hobby:id$">
T, §F—1U—K§ T v .
9 |~ = E PR = o E : L
TV R128 T XA MK 1+ Shobby$ Bl RS <table><tr><td>HIE : $hobby$</td></tr></table>
FUL (XY 13<br>)
T A hER $%F—U— R:br§ Bl : KT A 7<br> Ctable><tr><td>HRIE</td><td>$hobby :br§</td></tr></table>
B \P<or>
%= <Cinput $hobby:1§ type="checkbox” name="£000009999" value="1"> K A 7 <br>
I ——fgp §% — U — | VALUE(S Cinput $hobby:2§ type="checkbox” name="f000009999" value="2">% L #<br>
CF—0—Fo3 £ : Shobby:3$ ) checked .
<input $hobby:10$ type="checkbox” name="£000009999" value="10">}&{F<br>
Fry IRy s A
VALUE# 7R $F—U— F:id$ V%ILJU.E?EE 7 <input type="hidden” name="f000009999" value="$hobby:id$">
10 (Tgfgtl;s/)4 —F 7% A MRR §F¥F—U—K$ AJIfE <table><tr><td>$text_field32$</td></tr></table>
[l k= GRS <input type="text” name="f000009999” value="$text_field32$">
THXALT 44—
11 Tff*"x l\/ff—”/ F 7% A MR §F—U—K$ AJIfE <table><tr><td>$text_field32_hirakana$</td></tr></table>
(32 bytes) 272
[ b [Al 1= <input type="text” name="f000009999” value="$text_field32_hirakana$”>
FERALT 4=
12 Tff*"x b7k 7% A MR §F—U—K$ AJIfE <table><tr><td>$text_field32_katakana$</td></tr></table>
(32 bytes) 1
[l k= [Al |- <input type="text” name="f000009999” value="$text_field32_katakana$”>
THRALT 4
13 %#xh74—wﬁ 7% A MR §F—U—K$ AJIfE <table><tr><td>$text_field32_roman$</td></tr></table>
(32 bytes) B—~7F - - !
[l k= [Al |- <input type="text” name="f000009999” value="$text_field32_roman$”>
THRALT 4
14 Zj:y!;;’f —F 7% A MR §F—U—K$ AJIfE <table><tr><td>$text_field64$</td></tr></table>
[ b GRS <input type="text” name="f000009999” value="$text_field64$">
THRALT 4
15 T.'*"x l\/ff—”/ F T XA MR §F—TU—F§ AJIfE <(table><tr><td>$text_field64_hirakana$</td></tr></table>
(64 bytes) 272
[l k= [Al |- <input type="text” name="f000009999” value="$text_field64_hirakana$”>
FERALT 4=
16 T.'*"x b7k T XA MR §F—TU—F§ AJIfE (table><tr><td>$text_field6d_katakana$</td></tr></table>
(64 bytes) 7
[l k= [Al |- <input type="text” name="f000009999” value="$text_field6d_katakana$”>
FERALT 4=
17 [7FA |\7’f—”’ﬁ 7% A MRR §F—U—K$ AJIfE <table><tr><td>$text_field64_roman$</td></tr></table>
(64 bytes) =B—~7F - - !
[l k= [Al |- <input type="text” name="f000009999” value="$text_field64_roman$”>
THRALT 4
18 Tf*"x b7 g R 7% A MR §F—U—K$ AJIfE <table><tr><td>$text_field128§</td></tr></table>
(128 bytes)
[l k= GRS <input type="text” name="f000009999” value="$text_field128$">
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NO |&Ff
5 -1
19 (7527{];;)) 7 7% 2 R FR $F—1U— F$ AJHE (ATIHCRLE)  [<table>ctrs<td>Stext _areab128</td></tr></table>
TF R MRR §F%—U— R:ibr§ ATME (BAT71E<br>) Ctable><tr><td>§text_areab12:br$</td></tr></table>
s §F—U—R$ AIiEE (AT IECRLF) textarea name="f000009999">§text_area512§</textarea>
FRAIEVT
VA o)
20 [7FAP=VT 7% % R $%—1U—F§ AME (BATFIECRLE)  [<tablex<ur><td>§text_area$</td></tr></table>
(2048 bytes)
TF A MR $§F—U— R:ibr§ ATME (SBAT71E<br>) Ctabled<tr><td>§text_area:br§</td></tr></table>
5 §F—1U—K§ AIiE (S&ATIECRLF) <textarea name="f000009999">§text_area$</textarea>
FEALEVT
=N =N .
21 gf* “E.v TNTT 7% A MR §F¥F—U—K$ AJIfE <table><tr><td>$mm_number6$</td></tr></table>
> k(6 bytes)
[ k- [ <input type="text” name="f000009999” value="$mm_number6$”>
FEALT 4=
s TAT 7 = . . «
22 5 7 g
Xy (32 bytes) 7 F® A bR §F—U—h$ AT <table><tr><td>$mm_number6$</td></tr></table>
[l k= GRS <input type="text” name="f000009999” value="$mm_number6$”>
FEALT 4=
23 |4 7% A MR §F—U—K$ AJIfE <(table><tr><td>$integer$</td></tr></table>
[ b [ <input type="text” name="f000009999” value="$integer$”>
FERALT 4=
24 |58 7% A MR §F—U—K$ AJIfE <table><tr><td>$real §</td></tr></table>
[l k= GRS <input type="text” name="f000009999” value="$real$”>
FERART 4=
N - . $F—TU—F:iv§ Ay . .
25 |7 —1 3 R . L v
T=UT 7 ¥ A MR Bl - Shiml_mail:vs bl D <table><tr><td>HTML A —/LFF T : $html_mail:v</td></tr></table>
t: E (true)
f:f (false) $F—U—§ checked <input $html_mail$ type="checkbox” name="f000009999" value="1">HTML A —/LAfi %<br>
Fryv IRy I A
<select name="£000009999">
X <option $html_mail:st$ value="1">Ai%4 % </option>
A w —T]— S s "
e s 1% ‘?Ff‘ ] selected <option Shtml mail:sf$ value="0">Ar% L7\ </option>
sy | P Shinlmailists /select>
cE o gi:g: ;:rg hecked Cinput $html_mail:rt$ type="radio” name="£000009999” value="1">75%4 %
- i Tk checke Cinput $html_mail:rf$ type="radio” name="000009999" value="0">F% L 721>
e 51 : $html_mail:rt$
FUARE Y
VALUEZ7T* $F—U— F:id$ VALUEfE <input type="hidden” name="£000009999” value="$html_mail:id$”">
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Aft (OFOAOR

2T OBOHOR)

3

FH A MR §F—U—K§ ANfE <table><tr><td> HIH @ $date$</td></tr></table>

[ =lAICA8
[l e .

<input type="text” name="1000009999:y” value="$date:y$”>4E
<input type="text” name="f000009999:m” value="$date:m$">H
$F—U—F:1d$ ™ . <input type="text” name="f000009999:d" value="$date:d$">H

1]
: A CRE ) <input type="text” name="f000009999:hh” value="$date:hh$” >
<input type="text” name="£000009999:mm” value="$date:mm$”>%y
$F—U— K:ss$ <input type="text” name="f000009999:ss” value="$date:ss$">F

THRALT4—VEF

<select name="f000009999:y">
BE x| &F <option value="">V</option>

<option $date:y1900$ value="1900">1900</option>
<option $date:y1901$ value="1901">1901</option>
v A=A .
W B W 45 zjz:izztﬁgteiyﬂom value="2100">2100</option>

v =] # <select name="000009999:m">
<option value="">V</option>
<option $date:ml$ value="1">1</option>
<option $date:m2$ value="2">2</option>

<option $date:ml2$ value="12">12</option>
</select>H

<select name="£000009999:d">
<option value="">V</option>
<option $date:d1$ value="1">1</option>
<option $date:d2$ value="2">2</option>

<option $date:d31$ value="31">31</option>
</select>H

selected
<select name="f000009999:hh”>
<option value="">V</option>
<option $date:hh0$ value="0">0</option>
<option $date:hhl$ value="1">1</option>

<option $date:hh23$ value="23">23</option>
</select>If

<select name="f000009999:mm”>
<option value="">V</option>
<option $date:mm0$ value="0">0</option>
<option $date:mml$ value="1">1</option>

<option $date:mm59$ value="59">59<¢/option>
</select>5y

<select name="f000009999:ss”>
<option value="">V</option>
<option $date:ss0$ value="0">0</option>
<option $date:ssl$ value="1">1</option>

<option $date:ss59$ value="59">59<¢/option>
e </select>Fh

HfF (O%£OAOH . ol
28 OBEO4) - - f27: Bft (OBEOAOH OROSOM) | ZR

29 |1 (OFOROR - - 27 HAF (OFOAOH OFOHOB) | B

30 \BAT (OFOAOH) - - - f27: Bff (OBEOAOH OWOSOM) | ZR

31| AfF (OFORH) - - - f27: Aft (OFOAOR OKOHOR) | B

32 AR (OAOH) - - - f27: Bft (O#EOAOH OWOSOW) | ZR

33 |zl (OREO%Y) - - - f27: Aft (OFOHOR OKOHOR) | B

$F—U—F$ figé A

) : $wday$ B ;A <table><tr><td>HF7EH : $wday§i H </td></tr></table>

34 H (OMER) T ¥R MFR

|E| B2 ~ <select name="£000009999">
<option $wday:0$ value="0">HHiE H</option>
$¥F—U—F:[0-6]$

<option $wday:1$ value="1">MEF </option>
Bl : $wday:3$ selected !

<option $wday:6$ value="6"> 10 H </option>
</select>
TNEY

¢ geEd Cinput $wday:r0$ type="radio” name="1000009999" value="0"> I A <br>

« HiEg : vt R TE — .o oy
$%— 17— Fir+[0-6]$ chocked <input $wddy..r1$ type="radio” name="1000009999” value="1">H i H <br>

. 51 : $wday:r3$ .
« 1iEH <input $wday:r6$ type="radio” name="f000009999" value="6">+t:lE A <br>
FVARE
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NO | & ¥R
- . S OFO» A N .
35 Wi (OO A) T & A MR $F—U—K$§ Bl - 3454 A <table><tr><td>/8Y 3 V& ¢ $pe_hist$</td></tr></table>
T &r-A $¥—U—R:y$ ANME GEA ) <input type="text” name="f000009999:y" value="$pc_hist:y$" >4
§%—1T— [:in§ e Cinput type="text” name="£000009999:n” value="$pc_hist:m$"> A
TEXALT 4R
36 |B#E (OH) T ¥ A NFoR $F—U—K§ %JE' 70 <table><tr><td>§interval_d§</td></tr></table>
1 1 <input type="text” name="f000009999” value="$interval_d$”>
TEXALT 4R
37 |WERT (OER) T ¥ A NFoR $F—U— K§ C‘)&iﬂ@rii@%ﬁ <table><tr><td>§interval_w§</td></tr></table>
1 1 <input type="text” name="f000009999” value="$interval w$”>

FEA BT $§'ﬂf;7p;s};\rg$ @iiiﬁi*ﬁj‘ Ctable><tr><td>/S A T — K 1 $passwd$</td></tr></table>
$;‘|’J_‘€pa_ss];vdvjzlj$ 7%?'1[Ehoge789 <input type="text” name="1000009999” value="$passwd:val$” maxlength="16">

TX¥AMZA4—NVR

(HERA)

TXAbPT 4V

$F—U— Ricf$
5] : $passwd:cf$

AT (REzB )

<input type="text” name="f000009999:cf” value="$passwd:cf$” maxlength="16">

44 ({5 SR T — ]

45 X7 b7 U b

e | =
TF A MR $4§:J . ;Z)assl;v§$ @fi:*izﬂfr <table><tr><td>/S AU — I : $passwd§</td></tr></table>
5;:;;71) ;;&Y:;ﬁ )%?'ﬁ;oge789 Cinput type="text” name="f000009999" value="$passwd:val$” maxlength="16">

TXAPT 4=V F

(ReZA)

TXART =L F

§$%—v— Fiors
5] : $passwd:cf$

AT (Rezg i)

<input type="text” name="1000009999:cf” value="$passwd:cf$” maxlength="16">

FXA MR $;sz)};£;‘,’3$ %T,’lb CtableX<tr><td>BEFELL : Soptout:v$</td></tr></table>
CESELL
$¥F—U—F$ checked <input $optout§ type="checkbox” name="£000009999" value="now”>Elf5{% Ik <br>
Fzv IRy R
— g <select name="£000009999">
ud gi__g__ }}:Sig Tected <option $optout:st$ value="now”>HfF 1% 1< /option>
il S selecte <option $optout:sf$ value="">#Hi</option>
FANE #l : $optout:st$ <{/select>
CEMEELE OB gi\i:g: i;;g checked <input $optout:rt$ type="radio” name="£000009999" value="now”>El{Z 1L

FUARE

5 : Soptout:rt$

<input $optout:rf$ type="radio” name="000009999" value="">R7E

now# R

$F—T — Finow$

F7RT U LTS
AlZnowk Hi7)

<input type="hidden” name="f000009999” value="$html mail:id$">




